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Q1.a)FindtheLaplacetransformof . (5)
1

t
e
-t
sint

Sol: Tofind:L[1te-tsint]
⇒L = [SinceL = ][sint] 1

+1s
2 {sinat} 1

+s
2
a
2

ByFirstShiftingTheorem,

⇒L = [SinceL =Φ(s-a)][e-tsint] 1

+1(s+1)
2 { fe

at
(t)}

⇒L = [Effectofdivisionbyt][e
1

t

-t

sint] ∫
∞

s
ds

1

+1(s+1)
2

⇒ [ = ][tan-1(s+1)]
∞

s
∫
dx

+x
2
a
2

1

a
tan

-1x

a

⇒[ -tan
-1
(∞) (s+1)tan

-1 ]

⇒ -
π

2
(s+1)tan

-1

⇒ [ - ](s+1)cot
-1 π

2
x=tan

-1
xcot

-1

Ans:L =[1te-tsint] (s+1)cot
-1

---------------------------------------------------------------------------------

Q1.b)FindtheinverseLaplacetransformof . (5)
1

2s+1

Sol: Tofind:L
-1[ 1

2s+1]
=⇒L

-1[ 1

2s+1] L
-1[ 1

2s+
1

2
]



⇒ [ = [ϕ(s)]]
e
-
t

2

2
L
-1[1s] L

-1{ϕ(s+a)} e
-at
L
-1

⇒ [ = ]
e
-
t

2

2[t
-
1

2

Γ
1

2
] L

-1[1sn] t
n-1

Γn

⇒
e
-
t

2

2π
[t-

1

2]

Ans: =L
-1[ 1

2s+1]
e
-
t

2

2π
t
-
1

2

---------------------------------------------------------------------------------

Q1.c)Showthatthefunction,f(z)= isanalyticandfind intermssinh(z) f
'
(z)

ofz (5)

Sol: Given:f(z)=sinh(z)

⟹ = + sinh⁡(iy)sinh(x+iy) sinh(x)cosh(iy) cosh(x)

⟹ +i sin⁡(y) [cosh(iy)=cosy,sinh(iy)=isin(y)]sinh(x)cos(y) cosh(x)

Comparingrealandimaginaryparts,

;v= sin⁡(y)u=sinh(x)cos(y) cosh(x)

Differentiatinguandvpartiallywithrespecttoxandy,

= ; = sin⁡(y)ux cosh(x)cos(y)uy -sinh(x)

= sin⁡(y); =vx sinh(x) vy cosh(x)cos(y)

Fromaboveequationsclearly,wecanseethat: = & =-ux vy uy vx

ThusCRequationsaresatisfiedandthusthefunctionisanalytic.

Therefore; = +if
'
(z) ux vx

= +i sin⁡(y)f
'
(z) cosh(x)cos(y) sinh(x)

=f
'
(z) cosh(x+iy)

=cosh⁡(z)f
'
(z)

Ans: =cosh⁡(z)f
'
(z)

---------------------------------------------------------------------------------



Q1.d)FindtheFourierseriesforf =xin(0,2π). (5)(x)

Sol: f =x(x)

Fourierseriesisgivenby:f = +(x) a
0 ∑∞

n=1
( +ancosnπxbnsinnπx)

Calculating ,a
0

= dx => = dxa
0

1

2π
∫
2π

0
f(x) a

0

1

2π
∫
2π

0
x

= dx => = dxa
0

1

2π[x
2

2]
2π

0
a
0

1

2π[ -0
4π

2

2 ]
=π -----------1a

0

Calculating ,an

= dxan
1

π
∫
2π

0
xcos(nx)

=> = dxan
1

π[ -
xsin(nx)

n (-cosnxn
2 )]2π

0

=> =an
1

π[ -{ +
2πsin⁡(2nπ)

n

cos⁡(2nπ)

n
2 }{0+cos0n

2 }]
=> = => =0 -----------2an

1

π[ -{0+1n2}{0+1n2}] an

Calculating ,bn

= dxbn
1

π
∫
2π

0
xsin(nx)

=> = dxbn
1

π[ -
x(- )cosnx

n (-sinnxn
2 )]2π

0

=> =bn
1

π[ -{ +
2π(- )cos2nπ

n

sin⁡(2nπ)

n
2 }{0+sin0n2 }]

=> = => = -----------3bn
1

π[ -{ +0
-2π

n }{0+0}] bn
-2

n

SubstitutingintheFourierSeries,weget;

x=π+0+

∞

∑
n=1

(-2nsinnπx)



Ans:x=π-2∑
∞

n=1
(sinnπxn )

---------------------------------------------------------------------------------

Q2.a)UseLaplacetransformtoprove: log5. (6)∫
∞

0
dt=e

-t tsin
2

t

1

4

Sol:Toprove log5∫
∞

0
dt=e

-t tsin
2

t

1

4

LHS:∫
∞

0
dte

-t tsin
2

t

⇒L =L[ tsin
2] [1-cos⁡(2t)2 ]

⇒ L[1-cos⁡(2t)]
1

2

⇒ L [L = ;L = ]
1

2[-
1

s

2

+4s
2 ] {cosat} s

+s
2
a
2 [1]

1

s

L = ds[ tsin
2

t] 1

2[∫
∞

s

-
1

s

s

+4s
2 ]

=
1

2[logs-log(+4)
1

2
s
2 ]

=-
1

4
[log -log(+4s

2 ) s
2]

=-
1

4[log(+4s
2

s
2 )]∞

s

= log
1

4 [+4s
2

s
2 ]

Therefore,∫
∞

0
dt= loge

-st tsin
2

t

1

4 [+4s
2

s
2 ]

Puttings=1;



∫
∞

0

dt= loge
-t tsin

2

t

1

4 [ +41
2

1 ]

∫
∞

0

dt= loge
-st tsin

2

t

1

4
[5]

Ans:∫
∞

0

dt= loge
-st tsin

2

t

1

4
[5]
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Q2.b)If = , findZ{f(k)}. (6){f(k)} {,k<04
k

,k≥03
k

Sol:Bydefinition,

Z ={f(k)}
∞

∑
k=-∞

f .(k)z
-k

Z ={f(k)}
1

∑
k=-∞

. +5
k
z
-k

∞

∑
k=0

.3
k
z
-k

Putk=-nin1stseries,

⇒Z ={f(k)}
∞

∑
n=1

.+5
-n
z
n

∞

∑
k=0

.3
k
z
-k

⇒Z = +{f(k)} [ + + +…(z5)(z5)
2

(z5)
3

] [1+ + + +…(3z)(3z)
2

(3z)
3

]
TheabovetwoseriesaresumofinfiniteGPtermswhosesummationisgivenby,

S= ,whereais1sttermandristhecommonratiobetweentheterms
a

1-r

⇒Z = +{f(k)} z

5[ 1

1-(z5)] [ 1

1-(3z)]
⇒Z = +{f(k)} z

5[55-z] [zz-3]
⇒Z = +{f(k)} [z5-z] [zz-3]
⇒Z ={f(k)} z +z(5-z)(z-3)

(5-z)(z-3)

⇒Z ={f(k)} 2z

(5-z)(z-3)



Ans:Z ={f(k)} 2z

(5-z)(z-3)

---------------------------------------------------------------------------------

Q2.c)Showthatthefunctionu= isaharmonicfunction.Finditscosxcoshy

harmonicconjugateandcorrespondinganalyticfunction (8)

Sol:Given:u=cosxcoshy

=- ; =ux sinxcoshy uy cosysinhy

=- ; =u
2

x cosxcoshy u
2
y cosxcoshy

Fromtheaboveequations,

+ =0 ThustheLaplaceequationissatisfied.u
2

x u
2
y

Therefore,uisharmonic

Let = and =ux Ψ
1
(x,y) uy Ψ

2
(x,y)

=-Ψ
1
(z,0) sinzand =0Ψ

2
(z,0)

ByMilneThompsonmethod,

f =(z) ∫ dz-Ψ
1
(z,0) ∫ dzΨ

2
(z,0)

f =(z) ∫- dz-sinz ∫0dz

f = Thisistherequiredanalyticfunction.(z) cosz+c

Separatingrealandimaginaryparts,puttingz=x+iy,

f =(z) cos(x+iy)

f =(z) cosxcosiy-sinxsiniy

f = [cos(iy)=cosh(y)andsin(iy)=isinh(y)](z) cosxcoshy-isinxsinhy

Therefore,v=-sinxsinhy

Ans:Requiredanalyticfunctionisf =(z) cosz+c

Harmonicconjugateofu=v=-sinxsinhy

---------------------------------------------------------------------------------



Q3.a)FindtheequationofthelineofregressionofYonXforthefollowing

data. (6)

X 5 6 7 8 9 10 11

Y 11 14 14 15 12 17 16

Sol.TheLineofregressionYonXisgivenasy=a+bx.

x x
2 y y

2 xy

5 25 11 121 55

6 36 14 196 84

7 49 14 196 98

8 64 15 225 120

9 81 12 144 108

10 100 17 324 170

11 121 16 256 176

Σ=56 Σ=476 Σ=99 Σ=1427 Σ=811

HereN=7,

Thenormalequationaregivenasfollows;

Σy=Na+bΣx

Σxy=aΣx+bΣx
2

Substitutingthevaluesfromtheabovetable;

7a+56b=99

56a+476b=811

Solvingtheabovetwoequationssimultaneously,weget;a=8.714andb=0.6786

Thus,theequationoflineofregressionis:8.714+0.6786x

---------------------------------------------------------------------------------



Q3.b)Findthebilineartransformationwhichmapsthepoints1,-i,2onz

planeonto0,2,-irespectivelyofw-plane. (6)

Sol:Letthetransformationbew= -----i
az+b

cz+d

Puttingthegivenvalues,0= ; 2= ; -i=
a+b

c+d

-ai+b

-ci+d

2a+b

2c+d

Fromtheseequationsweget,a+b=0 -----ii

i+ =0 -----iii(a-2c) (2d-b)

i+ =0 -----iv(2c+d) (2a+b)

Fromiiwegetb=-a.

Puttingthisvalueofbiniiiandiv,weget

i+ =0 -----v(a-2c) (2d+a)

i+ =0 -----vi(2c+d) (a)

Addingvandviweget

i+2 =0 Therefore, (i+2)=0(a+d) (a+d) (a+d)

Thus,d=-a [Since,i≠-2]

Puttingthesevaluesofdandbin2= ,weget2= =
-ai+b

-ci+d

-ai-a

-ci-a

a(1+i)

ci+a

Therefore,2ci+2a=a+ai ⇒2ci=-a+ai

⇒2ci=a +ai ⇒2ci=ai(i+1)i
2

2c=a(1+i) ⇒c= a(1+i2)
Puttingthesevaluesob,c,din(i),

w=
az-a

az-a(1+i2)

w=
z-1

z-1(1+i2)



w=
2(z-1)

z-2(1+i)

Ans:w=
2(z-1)

z-2(1+i)

---------------------------------------------------------------------------------

Q3.c)Findhalfrangesineseriesforf = . (8)(x) { x ,0<x<
π

2

π-x ,<x<π
π

2

Hencefindthesumof .∑∞
(2n-1)

1

n
4

Sol:Halfrangesineseriesisgivenby:

f =(x) ∑bnsinnx

=bn
2

π∫
π

0

f(x)sinnxdx

⇒
2

π[∫
π
2

0

xsinnxdx+∫
2π

π
2

(π-x)sinnxdx]
⇒
2

π[ +{x - (1)(-cosnxn )(-sinnxn
2 ) }π2

0
{(π-x) - (-1)(-cosnxn )(-sinnxn

2 ) }π

π2]
⇒
2

π[ +{ + -0-0
π

2

cos⁡( )nπ2

n

sin( )nπ2

n
2 }{0-0+ +

π

2

cos(nπ2)
n

sin⁡( )nπ2

n
2 }]

⇒
4

π

sin⁡( )nπ2

n
2

= ; =0; =- ; =0;….b
1

4

π

1

1
2b2 b

3

4

π

1

3
2b4

f =(x)
4

π[ - + - +…
sinx

1
2

sin3x

3
2

sin5x

5
2

sin7x

7
2 ]

ByParseval’sidentity;

-----i
1

π
∫
π

0
dx=[f(x)]
2 1

2
[ + + + +…+∞b

1

2
b
2

2
b
3

3
b
4

2 ]

=
1

π[∫
π2

0

dx+x
2

∫
π

π2

dx(π-x)
2 ] 1

2
[ + + + +…+∞b

1

2
b
2

2
b
3

3
b
4

2 ]



LHS:
1

π
[∫π2

0
dx+x
2

∫
π

π2
( -2πx+ )dxπ

2
x
2 ]

=
1

π[ +{x
3

3}
π2

0
{ x-π +π

2
x
2 x

3

3}
π

π2]
=
1

π[ + -{ -0
x
3

24 }{ -+π
3
π
3 π

3

3}{ - +
π
3

2

π
3

4

π
3

24}]
=
π
2

12

=
π
2

12

1

2[ .+ .+ .+…
16

π
2

1

1
4

16

π
2

1

3
4

16

π
2

1

5
4 ]

⇒ =
π
2

96 [ + + +…
1

1
4

1

3
4

1

5
4 ]

⇒ ,n=1,2,3,…

∞

∑
(2n-1)

=
1

n
4

π
2

96

Ans: ,n=1,2,3,…∑∞
(2n-1)

=
1

n
4

π
2

96

---------------------------------------------------------------------------------

Q4.a)FindtheinverseLaplaceTransformusingconvolutiontheorem

(6)
1

(s-a)(s+a)
2

Sol: = ; =ϕ
1
(s)

1

s-a
ϕ
2
(s)

1

(s+a)
2

= =L
-1[ϕ

1
(s)] L

-1[1s-a] e
at

= = tL
-1[ϕ

2
(s)] L

-1[ 1

(s+a)
2] e

-at

= duL
-1[ϕ(s)] ∫

t

0
.e

au
e
-a(t-u)

(t-u)

= du∫
t

0
.e

au
e
-a(t-u)

(t-u)

= due
-at
∫
t

0
e
2au
(t-u)

=e
-at[ - (-1)(t-u)

e
2au

2a

e
2au

4a
2 ]t

0



=e
-at[0+ -

e
2at

4a
2{ +

t

2a

1

4a
2}]

=
1

4a
2[ -2at +e

at
e
-at

e
-at]

Ans: =L
-1[ 1

(s-a)(s+a)
2] 1

4a
2[ -2at +e

at
e
-at

e
-at]

---------------------------------------------------------------------------------

Q4.b)CalculatethecoefficientofcorrelationbetweenXandYfromthe

followingdata (6)

X 8 8 7 5 6 2

Y 3 4 10 13 22 8

Sol:

x x
2 y y

2 xy

8 64 3 9 24

8 64 4 16 32

7 49 10 100 70

5 25 12 144 65

6 36 22 484 132

2 4 8 64 16

Σ36 Σ242 Σ60 Σ842 Σ339

HereN=6,

= =6and = =10
̅
X

36

6

̅
Y

60

6

Coefficientofcorrelation,

r=

Σxy-
ΣxΣy

n

Σ -x
2(Σx)

2

n
-y
2(Σy)

2

n

Substituingthevalues,weget:



r=

339-
36x60

6

242-
(36)

2

6
842-

(60)
2

6

r=-0.2647

Ans:Coefficientofcorrelation,r=-0.2647

---------------------------------------------------------------------------------

Q4.c)FindtheinverseZ-transformof: (8)

i) , <a
1

(z-a)
2|z|

ii) , >3
1

(z-3)(z-2)
|z|

Sol:i)F = , <a(z)
1

(z-a)
2|z|

⇒
1

a
2
[1- ](za)

2

1

a
2(1-za)

-2

⇒ [1+ +3 +4 +…+ ]
1

a
2 2(za)

1

(za)
2

(za)
3

(n+1)(za)
n

Coefficientof = ; n≥0z
n n+1

a
n+2

Putn=-k, = ; k≤0z
-k -k+1

a
-k+2

ii) F = , >3(z)
1

(z-3)(z-2)
|z|

= +
1

(z-3)(z-2)

A

z-3

B

z-2

1=A +B(z-3)(z-2)

Puttingz=2; 1=-B =>B=-1

Puttingz=3; 1=A =>A=1



= -
1

(z-3)(z-2)

1

z-3

1

z-2

RHS

⇒ -
1

z(1-)
3

z

1

z(1-)
2

z

⇒ -
1

z[1-3z]
-1

1

z[1-2z]
-1

⇒ [1+ + + +…+ ] -
1

z

3

z (3z) (3z) (3z)
k-1

1

z[1++ + +…+
2

z(2z)(2z) (2z)
k-1

]

Coefficientof = - ;k≥1z
-k

3
k-1

2
k-1

[F(z)]= -Z
-1

3
k-1

2
k-1

---------------------------------------------------------------------------------

Q5.a)UsingLaplacetransformevaluate (6)∫
∞

0
H dte

-t(1+2t-+t
2
t
3)(t-1)

Sol: Toevaluate∫
∞

0
H dte

-t(1+2t-+t
2
t
3)(t-1)

⇒f(t)=1+2t- + ;a=1t
2

t
3

⇒f(t+1)=1+2(t+1)- +(t+1)
2

(t+1)
3

=1+2t+2- +2t+1)+ + +3t+1(t
2

t
3

3t
2

+2 +3t+3=t
3

t
2

L =L[+2 +3t+3][f(t+1)] t
3

t
2

= +2 + + -----i
3!

s
4

2!

s
3

3

s
2

3

s

Weknow,L = L[f(t+a)][f H(t)(t-a)] e
-as

SubstitutingthevalueofL[f(t+a)]inaboveequation,weget

L =[ H(1+2t-+t
2
t
3)(t-1)] e

-as[ +2 + +
3!

s
4

2!

s
3

3

s
2

3

s]
=∫

∞

0

H dte
-st(1+2t-+t

2
t
3)(t-1) e

-s[ +2 + +
3!

s
4

2!

s
3

3

s
2

3

s]
Puttings=1intheaboveequation;



=∫
∞

0

H dte
-t(1+2t-+t

2
t
3)(t-1) e

-1[ +2 + +
3!

1
4

2!

1
3

3

1
2

3

1]
==e

-1[6+4+3+3]
16

e

Ans:

=∫
∞

0

H dte
-t(1+2t-+t

2
t
3)(t-1) [16e]

---------------------------------------------------------------------------------

Q5.b)Showthatthesetoffunctionscosx,cos2x,cos3x,…isasetof

orthogonalfunctionsover[-π,π].Henceconstructsetoforthonormalfunctions.

(6)

Sol:Wehave =fn(x) cosnx;n=1,2,3,…

Therefore,∫
π

-π
. dx⇒fm(x)fm(x) ∫

π

-π
dxcosmx.cosnx

⇒
1

2
∫
π

-π
dxcos x+cos⁡(m-n)x(m+n)

⇒
1

2[ +
sin x(m+n)

m+n

sin x(m-n)

m-n ]π
-π

Nowtwocasesarise:

i. Whenm≠n:

=
1

2[ -{ +
sin π(m+n)

m+n

sin π(m-n)

m-n }{ -
-sin π(m+n)

m+n

sin π(m-n)

m-n }]

=[{ +
sin π(m+n)

m+n

sin π(m-n)

m-n }]
=0

ii. Whenm=n:

∫
π

-π

dx=nxcos
2

∫
π

-π

dx
1+cos2x

2

⇒
1

2[x+sin2x2 ]π
-π

⇒ ⇒π≠0
1

2
[π+0-(-π+0)]

Thereforethefunctionsareorthogonalin[-π,π]



dx=π∫
π

-π

[f ](x)
2

dividingtheaboveequationbyπ;

⇒ dx=1
1

π∫
π

-π

[f ](x)
2

⇒ dx=1∫
π

-π

f . f(x)
1
π
(x)

1
π

Thisisobviouslyanorthonormalsetwhereϕ =(x)
1
π
cosnx

Thustherequiredorthonormalsetis
1
π
cosx,

1
π
cos2x,

1
π
cos3x,…

---------------------------------------------------------------------------------

Q5.c)SolveusingLaplacetransform: (8)

( -2 +5D)y=0 withy =0; =0; =1D
3

D
3 (0) y

'(0) y
''(0)

Sol:LetL(y)=
̅
y

TakingLaplacetransformonbothsidesofthegivenequation;

L -2L +5L =0(y''') (y'') (y')

⇒L =s( )-y ;L = -sy - ;L = -y -s -y''(0)(y') ̅
y (0) (y'') s

2̅
y (0)y

'(0) (y''') s
3̅
y s

2(0) y
'(0)

Fromthegivenconditions;

L =s ;;L = ;;L = -1(y') (̅y) (y'') s
2̅
y (y''') s

3̅
y

Thereforetheequationbecomes;

⇒ -1-2 +5s =0s
3̅
y s

2̅
y (̅y)

⇒ =
̅
y

1

-2 +5ss
3
s
2

TakinginverseLaplacetransform,

⇒y=L
-1[ 1

-2 +5ss
3
s
2 ]

⇒y= =>L
-1[ 1

-2s+5)s(s
2 ] L

-1[ 1

s[ +(s-1)2 2
2]]

Weobtaintheinversebyconvolutiontheorem,



= ; =ϕ
1
(s)

1

+(s-1)
2
2
2 ϕ

2
(s)

1

s

= ⇒ ⇒ =..sin2tf
1
(t) L

-1[ϕ
1
(s)]L

-1( 1

+(s-1)
2
2
2)e

t
L
-1( 1

+(s)
2
2
2)1

2
e
t

= ⇒ []⇒1f
2
(t) L

-1[ϕ
2
(s)]L

-11

s

= ..sin2u⇒f
1
(u)

1

2
e
u

=⇒L
-1[ϕ(s)] 1

2[1

1+2
2[( -2 )e

u
sin2u cos2u]]t

0

*Theaboveintegralisofthisformat:[ ]∫ = ( { })e
ax
sinbx

1

+a
2
b
2e

ax
sinax-bcosbx

=⇒L
-1[ϕ(s)] 1

2[15[ +2e
t( -2sin2tcos2t) ]]

⇒ =L
-1[ϕ(s)] [110[ +2e

t( -2sin2tcos2t) ]]
Thesolutionis:[110[ +2e

t( -2sin2tcos2t) ]]
---------------------------------------------------------------------------------

Q6.a)FindtheComplexFormoftheFourierSeriesforf(x)=2xin(0,2π)(6)

Sol:f(x)=2x,range(0,2π);

⇒ ; where =∑∞
-∞
Cne

inx
Cn

1

2π
∫
2π

0
f dx(x)e

-inx

Hence, = -----iCn
1

2π
∫
2π

0
2x. dxe

-inx

⇒
1

π∫
2π

0

x. dxe
-inx

⇒
1

π[x. -
e
-inx

-in

e
-inx

(in)2

1
]2π0

⇒
1

π[- + -0-
2πe

-i2nπ

in

e
i2nπ

n
2

1

n
2]

⇒ ⇒ (- )
1

π[- + -0-
2π

in

1

n
2

1

n
2] 1

π

2π

in



⇒ ⇒ {n≠0}(-2in)(ii) 2i

n

Forn=0,substituteitin(i);

= ⇒ = (4 )=2πC
0

1

2π
∫
2π

0
2xdx

1

π(x
2

2)
2π

0

1

2π
π
2

Therefore,f(x)=2π+∑∞
-∞

2i

n
e
inx

⇒f =2π+2i(x)

∞

∑
-∞

e
inx

n

---------------------------------------------------------------------------------

Q6.b)Iff and arebothanalytic,provethatf(z)isconstant (6)(z)
̅
f(z)

Sol: f =u+iv(z)

=u+i(-v)
̅
f(z)

Forf :(z)

= -----iux vy

=- -----iiuy vx

For :
̅
f(z)

= -----iiiux -vy

=- ) -----ivuy (-vx

Fromiandiii;

=-⇒2 =0⇒ =0vy vy vy vy

Fromiiandiv;

=-⇒2 =0⇒ =0vx vx vx vx

Substitutinginiandii,

= =0ux uy

Thereforeu=kandv=k [partialderivativesofconstantarezero]



Henceu+ivisconstant

f(z)isconstant.

---------------------------------------------------------------------------------

Q6.c)Fitacurveoftheformy=a tothefollowingdata. (8)b
x

X 1 2 3 4 5 6

Y 151 100 61 50 20 8

Sol: y=ab
x

Takinglogonbothsides,

= +xlogblogy loga

Letlogy=Y,loga=A,x=Xandlogb=B

=>Y=A+X(B)

x y X Y X
2 XY

1 151 1 2.1789 1 2.1789

2 100 2 2 4 4

3 61 3 1.7853 9 5.3559

4 50 4 1.6989 16 6.7956

5 20 5 1.3010 25 6.5050

6 8 6 0.9031 36 5.4186

∑21 ∑9.8672 ∑91 ∑30.254

Here,N=6

ΣY=NA+BΣX

ΣXY=AΣX+BΣX
2

Substitutingthevaluesfromtheabovetable;

6A+21B=9.8672

21A+91B=30.254

Onsolvingsimultaneously;



A=2.5 and B=-0.2446

Hence,b=antilog(-0.2446)=>0.5668 [ =0.56676]10
-0.2446

a=antilog(2.5)=>316.2278 [ =0.56676]10
2.5

Therefore,y=(316.2278)(0.5668)x

Ans:y=(316.2278)(0.5668)x

---------------------------------------------------------------------------------


